§ 2. lNoka3Hukosa i norapydmivyHa pyHKUIi

3)4.2cos.t=\/§; 5)5x—1=10x.2-x.5x+l;
4) 0,25-2° =30,25.4%;  6) Yo :%.

17.8." Po3p’saKiTh PiBHAHHS:
oz
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2) 9.3sinx=\/-27; 4) 57I#l=

1) 83::; 3) 2x—1 i 122,\'.3—2:. 2: + 1;
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17.9." Po3B’sskiTh piBHAHHA:
1) 2+ 2" ' + 2* % = 56;
2)6-5"-5""1-3.5"1=10;
| 8)2:7°+ 7°** - 8.7 = 354;
‘ 4) 4% -3.2%"1 4 5.2% = 228;
i

\ 5)4.91,51'—1_271'—1:33;
6) 0,5’ * + 3-0,25° * = 5;

16
8) 4-8°-5-3°1-6.8"2=15.9" 1.

1-0,5x
7) 22“‘+4*—( : ) —47;

17.10. Po3B’sioKiTh PiBHAHHSA:
1) 68t ¢ 554 5F 1 = 81;

V2)8 T 2431 — 4.3 2= 17,
3)2x¢2_2x+l+21—1_2x—2=9;
4)2-3%*1 4+ 3%°1 _ 5.3% = 36;

1l 1 8:-x x-1
\ 5) GXV‘Z—(E) +36 ? =246;

6).5:2°1-6.2"2_7.25 2 81,

: l 17.11.° Po3s’sixkiTe piBHAHHA:

’ 1) 2%*1 - 5.2* 4+ 2 =0; 4) 9" - 6+3""1=3;
2) #7147 = 10; 5).8°7 .+ 8% *=28;

3) 523 _ 9.5 " 2_3: By o JuAk 1o
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